B2 B
LAI-9ARERH 3 7 318, FMEARHS, A&?
A AP G
2. (x14x2+++Xt) "BHEEZOART?

3.H—HERIRA 5 M, HEDSF—MA 61, NESHFJLAIR?

4. F n(m D+ RE#n MR, AZDN—PMRAZDEZDLRE?

5. 18 A BAHZA=AN. HZEALIAZEZ 104, HED 2 X, K
NG PN Wk

6.3K s={4a, 44Db, 34¢c, 3INABTANAE, REESH



7. 3R X+ XotX=1 HIREBUAANEL, X1, X2, X3>-5

8.6 M AHA—BIFES 6 K3, FAH—, AN, WA, 3
LM A?

9.5 app o4 4 M, BAZED—A, BEONIARTR

10. AIEX% 1 2] 2n AR nt1 N A B EFE—NER S
— IS

11 B R ES A LRSS —ouizH, H a bEA, # akb=b*a, N

a=b, IEBH abE€A, NI axbka=a



2. B A IRAE S, WFTE a7 e, 18 a'=e, HrP e REFHIBALIT

3. % R RILE¥E, M=(Ka,b>|la bER, a#0}, E X<a,b>o
{c, d>=(ac, ad+b> TEEAM NBE ., HIREE
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5. iERH: XFFFEIRKRIFF (Zn, +n, Xn ), n REHHHANY ZIn L
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1. W GR—AE e & GCHBEAIT HEGHTFH. WTFENRRR:
Va,a,eG,<a,a, >cR<aea, eH. R £ G FIBMLR,

2. <G, >R HE, x€6, BX GHHEBEHE “A” N aAb=akx*b, X}Va,b
€6, IEHHG, A>BRE.

3. <G, ¥>RFE, <A #,<B, »>REAFRTFE, UEH AUB=G, N A=G
Bk B=G

4. f1, £2 &<A, AFIB, HIFER, W ¢ 2 A% B W, fEXfva
EAEF g @ =f (a) *f; (a), EBMRB, »>RAXHAIEH ¢ 2 A
3| B MFZ.



5. <G, *>RH, c={alaceG, HVxEG, axX=X*a}iFHl c & G KT8

6. i “F” A1, A0, RMEEAEHNRERE, <0,1,+.>
HoanE
iE i} <(0,1),+ . >R
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UE: FE— TR R SRBR4R 1D B 62k 4112
N D Hi<4, 2130 %<6, MELEHEZ
L(3x9)/21=13, 4ihEEEZE | (5x9)21=22,
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Bev RERAK WA, HXTMANTR R &AWL, N
MIRALK,; F1KWE, NMBZ=K; .

By EBE6 ST, X BL6ANTH A WK, BRALK,.
WKy, FRE—FRETE,
HEHBE=MTY, HRAL

taseEUiA .
R(3,4)=9.
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> 4 (1x3x...x(2Kk 1)
1+2 ( T )x
k .

=1
=1+i§! k!(1><3><...x(2k—1)) o
— k'k!
=I_I_Z‘(2><4><...><(2)"7))(1><3><...><(2k —1))
k'k!
—1+Z(2k) —1+Z(2k)

(O)+B)s {4 (2

% L, (1-4x)V52 3 5] (C(0,0), C2,1), C@,2), ... , CRnn),...)
62 A . ;

k
X

K1, 3, 5. 7, 9 AEFH RO E A B ESRES, THRA A AL HAlL, 5, 9 PRI ECAS PR H) .

BOH T A PP e R 0 Eohap, Wy A, By, -« 4 BEIHR HOT BEpf #0N

2 + 2 3
=1+ s Xy Xy
G(x)=(1+ 2!+4!+ T (1+x+ 2!+3!+ v
HF
2 x3
et =l-x+—-—
| |
2 +
1+x—+x—+ =l(e‘+e")
20 4 2

G,(x)= %(e +e 7)™ =l(e"+2+g'h)g3:

1 5 _ @ Sn w 3l| n [~ xll
Z(:z +2e* 4e°)= —(Z—x 2 2, nl
- 12(5 +23 +1)—

a, =3(5" +2:3"+D

14. BEE—THKBEETH =2 M, HPESE -8F /2 HHE, n/2=2""" P RARHFALE R
P, H#HfT. By M XTHREENRBENBELR,

15. £ 14 IR ESR RS 32 M, BEHTE LR ELE?

16. KRBT 14 FIEM X THRIFERBABMRA,

14. If there is only one team, then no rounds are needed, so the base case is R(1) = 0. Since it takes one round
to cut the number of teams in half, we have R(n) =1+ R(n/2).



16. The solution of this recurrence relation for n = 2* is R(2*) = k, for the same reason as in Exercise 10.

Bl: M n ARRAT T EEEE r M, 4
%@5»&~&%ﬁ&ﬁ%:f”}

n—1

) =(x+x"+--)" =i[r_l]x”

r=0 n—1



